










\The average of the four numbers is 140. The fourth number is 26 more than the first 

number and the third number is 18 more than the second number. If the second 

number is 18 more than the first number, what is the difference between the third 

and the fourth number?
चार संख्याओं का औसत 140 है। चौथी संख्या पहली संख्या से 26 अधिक है और तीसरी संख्या दूसरी संख्या

से 18 अधिक है। यधद दूसरी संख्या पहली संख्या से 18 अधिक है, तो तीसरी और चौथी संख्या के बीच का

अंतर क्या है?

(A) 10 (B)12 (C)14 (D)16 (E)None of these



\
40% of the employees in a factory are workers and the remaining employees are 

executives. The annual income of each worker is Rs. 39000. The annual income of 

each executive is Rs. 42000. What is the average annual income of all the employees 

in the factory together?
एक कारखाने में 40% कममचारी कममचारी हैं और शेष कममचारी कायमकारी हैं। प्रते्यक कायमकताम की वाधषमक

आय रु. 39000. प्रते्यक कायमपालक की वाधषमक आय रु. 42000. कारखाने में सभी कममचाररयो ं की धमलाकर

औसत वाधषमक आय धकतनी है?

(A)40000 (B)38500 (C)40800 (D)41500 (E)None of these



\
Of the four numbers, whose average is 60, the first is one-fourth of the sum of the 

last three. The second number is one-third of the sum of other three, and the third is 

half of the other three. Find the fourth number.
चार संख्याओं में से, धिनका औसत 60 है, पहली अंधतम तीन के योग का एक चौथाई है। दूसरी संख्या अन्य

तीन के योग का एक धतहाई है, और तीसरा अन्य तीन का आिा है। चौथी संख्या ज्ञात कीधिए।

(A)52 (B)48 (C)80 (D)60 (E)None of these



\
The average age of 160 boys in a class is 15 years. The average age of a group of 30 

boys in the class is 16 years and the average age of another 50 boys in the class is 14 

years. What is the average age of the remaining boys in the class?
एक कक्षा में 160 लड़कों की औसतआयु 15 वषम है। कक्षा में 30 लड़कों के समूह की औसत आयु 16 वषम है

और कक्षा में अन्य 50 लड़कों की औसतआयु 14 वषम है। कक्षा में शेष लड़कों की औसत आयुक्या है?

(A)15.25 (B)15.50 (C)15 (D)16.25 (E)None of these



\
The average of five positive numbers is 308. The average of first two numbers is 

482.5 and the average of last two numbers is 224 less than the average of first two 

numbers. What is the third number?
पााँच िनात्मक संख्याओं का औसत 308 है। पहली दो संख्याओं का औसत 482.5 है और अंधतम दो संख्याओं

का औसत पहली दो संख्याओं के औसत से 224 कम है। तीसरा नंबर क्या है?

(A)224 (B)58 (C) 121 (D)CND (E)None of these



\
The average of a set of 20 observations is 80. The difference between the largest 

number and the smallest number is 132. If the largest and the smallest numbers are 

excluded from the series, the average becomes 78. What is the largest number of the 

original series? 20 अवलोकनों के एक सेट का औसत 80 है। सबसे बड़ी संख्या और सबसे छोटी संख्या

के बीच का अंतर 132 है। यधद सबसे बड़ी और सबसे छोटी संख्या को श्रंखला से हटा धदया िाता है, तो

औसत 78 हो िाता है। मूल की सबसे बड़ी संख्या क्या है श्रंखला?

(A)168 (B)132 (C)138 (D)164 (E)172



\
The average weight of 39 Students in a class is 23. Among them Sita is the heaviest 

while Tina is the lightest. If both of them are excluded from the class still the 

average remains same. The ratio of weight of Sita to Tina is 15:8.Then what is the 

weight of the Tina? एक कक्षा में 39 छात्ो ं का औसत विन 23 है। उनमें सीता सबसे भारी है िबधक

टीना सबसे हल्की है। यधद उन दोनो ं को वगम से बाहर कर धदया िाता है तब भी औसत समान रहता है। सीता

और टीना के विन का अनुपात 15:8 है। तो टीना का विन धकतना है?

(A)15 (B) 16 (C)18 (D)19 (E)None of these



\
Average of A and B, 2 years ago was 39 years. If the age of A 5 years hence is 60 

years, and B is 5 year younger to C, then find the difference between age of A and 

C?

2 वषम पहले A और B का औसत 39 वषम था। यधद 5 वषम बाद A की आयु 60 वषम है, और B, C 
से 5 वषम छोटा है, तो A और C की आयु के बीच का अंतर ज्ञात कीधिए?

(A) 16 (B)20 (C)24 (D) 18 (E)None of these



\
The batting average of 40 innings of Virat Kohli is 52 runs. If his highest and lowest 

scores are excluded, the average of the remaining 38 innings is lowered by 1.5 runs. 

What is his highest score if his lowest score is 11 runs?
धवराट कोहली की 40 पाररयो ं का बले्लबािी औसत 52 रन है। यधद उसके उच्चतम और धनम्नतमस्कोर को

हटा धदया िाए, तो शेष 38 पाररयो ं का औसत 1.5 रन कम हो िाता है। उसका उच्चतमस्कोर क्या है यधद

उसका नू्यनतमस्कोर 11 रन है?

(A)136 (B)135 (C)155 (D)150 (E)None of these



\In Champions trophy, Kohli scored an average of 40 runs per match in the first 3 

match and an average of 52 runs per match in the last four match. What is Kohli’s

average runs for the first match and the last two match if his average runs per 

match for all the five match is 48?
चैंधपयंस टर ॉफी में कोहली ने पहले 3 मैचो ं में प्रधत मैच औसतन 40 रन और धपछले चार मैचो ं में प्रधत मैच 52 रन

की औसत से रन बनाए। कोहली के पहले मैच औरआखखरी दो मैचो ं के धलए औसत रनक्या है यधद सभी

पांच मैचो ं के धलए प्रधत मैच औसत रन 48 है?

(A)51.33 (B)52.67 (C)50.67 (D)53 (E)None of these



\

Find the average of first 16 multiples of 12 .

12 के प्रथम 16 गुणिो ं का औसत ज्ञात कीधिए।

(A)104 (B)105 (C)102 (D)109 (E)None of these



\
The bowling average of a bowler is 17.2 in 79 matches and he takes 8 wickets by 

giving 52 runs in his 80th match , So its average decreases by 0.8. Then how many 

wickets has the bowler taken so far ?

एक गेंदबाि का गेंदबािी औसत 79 मैचो ं में 17.2 होता है और वह अपने 80वें मैच में 52 

रन देकर 8 धवकेट लेता है, इसधलए इसका औसत 0.8 कम हो िाता है। तो गेंदबाि ने अब

तक धकतने धवकेट धलए हैं?

(A)107 (B)99 (C)117 (D)207 (E)None of these



\

Average of X, Y, Z is 24, X : Y = 2 : 3, X + Y = 60, then find X – Z =?

(A)16 (B)14 (C) 8 (D)10 (E)12



\
The average weight of 39 Students in a class is 23. Among them Sita is the heaviest 

while Tina is the lightest. If both of them are excluded from the class still the 

average remains same. The ratio of weight of Sita to Tina is 15:8.Then what is the 

weight of the Tina? एक कक्षा में 39 छात्ो ं का औसत विन 23 है। उनमें सीता सबसे भारी है िबधक

टीना सबसे हल्की है। यधद उन दोनो ं को वगम से बाहर कर धदया िाता है तब भी औसत समान रहता है। सीता

और टीना के विन का अनुपात 15:8 है। तो टीना का विन धकतना है?

(A)15 (B)16 (C)18 (D)19 (E)None of these



\
If the average weight of the whole class is 50 kg. And the average weight of boys in 

the class is 60 kg and the average weight of girls in the same class is 44 kg. What 

could be the ratio of boys and girls in the class respectively?

यधद पूरी कक्षा का औसत भार 50 धकग्रा है। और कक्षा में लड़कोंका औसत विन 60 

धकलो है और उसी कक्षा में लड़धकयो ं का औसत विन 44 धकलो है। कक्षा में लड़को ंऔर

लड़धकयो ं का अनुपात क्रमशःक्या हो सकता है?

(A)4: 3 (B)3:4 (C)5:3 (D)3:5 (E)None of these



\
The average score of boys in an examination in a school is 71 and that of the girls is 

73. The average score of the school is 71.8. The ratio of the number of boys to that of 

the girls that appeared in the examination is

एक सू्कल में एक परीक्षा में लड़को ं का औसतस्कोर 71 है और लड़धकयो ं का 73 है। सू्कल

का औसतस्कोर 71.8 है। परीक्षा में बैठने वाले लड़कों की संख्या से लड़धकयो ं की संख्या

का अनुपात है

(A)2:3 (B)3:5 (C)4:3 (D)3:4 (E)None of these



\
The average run rate of a cricket team during the first 20 overs is 4.5. If it has to 

score a total of 282 runs in a match, what should be per over run rate for the next 30 

overs

एक धक्रकेट टीम का पहले 20 ओवरो ं में औसत रन रेट 4.5 होता है। यधद उसे एक मैच में

कुल 282 रन बनाने हैं, तो अगले 30 ओवरो ं के धलए प्रधत ओवर रन रेट क्या होना चाधहए?

(A)6.0 (B)6.3 (C)6.8 (D) 6.4 (E)None of these
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